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Section 1-8
An Introduction to
Equations

Students will be able to solve equations using
tables and mental math.

Define:

[eLEien l%mo\vﬁ ~\|eg Ore —

15 2= ~ -8 Froe
An equation that has one or more variables
in called open because it could be true or

false depending on the value of the
variables.

3 =2

True, false or open?

y+6=5y-8 (Open

16-7=4+5 . _,

a 4
32 +8=2(3)
L 40 Fo\ae

Is(m = -1/2 a solution to the equation

6m -8 =-5? Why?

“3-§2-5
_ 2’6 No
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Identify which word shows equality in the ) )
Write an equation:

following.

o0 7 The length of the ball court at La Venta is 14
Lhe_M @ 3 fha‘l’ of her times that height of its walls. What is the
brother's. height of a model that has a length of 49 cm?
Write the equation:

3”\'5 buther S

X = 3

Use a table to find a solution:

What is the solution of 25 - 3p =@

25 30,
x+7=20 ? }P Df@
<=3 A5HNS

§i25 '—?’ 3 ’ :/\O
= 100 K a0

p+15=-10 _‘?0 L%% 2\6’

P=-Q5

Use mental math to solve:
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What is anor the solution to

3x + 3 =-227

Share your method.

August 28, 2017

Section 1-9
Patterns, Equations, and
Graphs

Student will be able to use tables, equations
and graphs to describe relationships.

What is an ordered pair?

(x4
How does an ordered pair relate to the
solution to an equation in 2 variables?

gV,
e




1.8-1.9.notebook August 28, 2017

Will runs 6 laps before Megan joins him at
the track. They then run together at the
same pace. How can you represent the
relationship between the number of laps

You can use many different
representations to show the relationship
between two variables.

Tabl X Will runs and the number of laps Megan
avle o runs in different ways?
Egquw
Graph 5\'} T—,J:E.{S_ QMT fb—
q TN vh SCXS b O

Equation — (™}

- - £ 2

¢ |

\QW\“ b 1 < A

Review:
Turn to page 65 and do #25. Tt

says to use a table and a graph, but
instead just pick which one you
would like to use.

Compare and contrast how writing
equations in 1 variable is similar to
those with 2 variables. How are they
different?
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Which is a solution o the equation Hwk:
y=x +22 pg 56-57 #10, 22, 26, 32, 38, 50|
‘a6.5) 62
(b)X5,7)
()X-2,0) pg. 64 - 66 #14,16, 20, 22, 24,
d) none of the above 28. 30, 32
e) not enough information
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Journal Entry:

Use a table. Evaluats 2x + 2 for
x=-2,-1.0,1,2,and 3. What patem
do i notice? Use this pattem o find
e solulon of 2x+ 2= 28, heck your
soluton.
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page0.svg

  Sep 17-2:19 PM      Journal Entry:             Use a table.  Evaluate 2x + 2 for    x = -2, -1, 0, 1, 2, and 3.  What pattern    do you notice?  Use this pattern to find    the solution of 2x + 2 = 28.  Check your   solution.
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  Sep 17-2:19 PM      Section 1-9   Patterns, Equations, and   Graphs       Student will be able to use tables, equations   and graphs to describe relationships.
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  Sep 17-2:19 PM      Read through the Solve It, Getting Ready   problem on pg. 61.
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  Sep 17-2:19 PM      What is an ordered pair?         How does an ordered pair relate to the   solution to an equation in 2 variables?
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  Sep 17-2:19 PM      Is (-2, 3) a solution to y = 2x + 3?
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  Sep 17-2:19 PM      You can use many different   representations to show the relationship   between two variables.      Table         Graph         Equation
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  Sep 17-2:19 PM      Will runs 6 laps before Megan joins him at   the track.  They then run together at the   same pace.  How can you represent the   relationship between the number of laps   Will runs and the number of laps Megan   runs in different ways?
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  Sep 17-2:19 PM      You have 4 more left socks than right   socks.  Represent the situation.      If your last name begins with A-J, use a   table.      If your last name begins with J-Z, use a   graph.         -Once done, pair up with someone from the   opposite group and see if your   representation shows the same relationship   as yours.
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  Sep 17-2:47 PM      Turn to page 65 and do #25.  It   says to use a table and a graph, but   instead just pick which one you   would like to use.
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  Sep 17-2:47 PM      Review:      Compare and contrast how writing   equations in 1 variable is  similar  to   those with 2 variables.  How are they   different ?
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  Sep 17-2:47 PM      Which is a solution to the equation   y = x  +2?      a) (3, 5)   b) (5, 7)   c) (-2, 0)   d) none of the above   e) not enough information
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  Sep 17-2:52 PM      Hwk:  pg. 64 - 66   8, 14, 16, 18, 22, 24,    28 - 34 evens, #33
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